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swer in terms of "g's," where 1.00 g == 9.80 m/s2
• 

27. (II) Determine the stopping distances for an auto­
mobile with an initial speed of 90 km/h and human 
reaction time of 1.0 s: (a) for an acceleration 
a == -4.0 m/s 2

; (b) for a == -8.0 m/s2
. 

2H. (III) Show that the equation for the stopping dis­
tance of a car is ds == v0tR - v6/(2a), where v0 is the 
initial speed of the car, tR is the driver's reaction time, 
and a is the constant acceleration (and is negative). 

2lJ. (III) A speeding motorist traveling 120 km/h passes a 
stationary police officer. The officer immediately be­
gins pursuit at a constant acceleration of 10.0 km/h/s 
(note the mixed units). How much time will it take for 
the police officer to reach the speeder, assuming that 
the speeder maintains a constant speed? How fast will 
the police officer be traveling at this time? 

30. (III) A person driving her car at 50 km/h approaches 
an intersection just as the traffic light turns yellow. She 
knows that the yellow light lasts only 2.0 s before turn­
ing to red, and she is 30 m away from the near side of 
the intersection (Fig. 2-29). Should she try to stop, or 
should she make a run for it? The intersection is 15 n1 

wide. Her car's maximum deceleration is -6.0 m/s2
, 

whereas it can accelerate from 50 km/h to 70 km/h in 
6.0 s. Ignore the length of her car and her reaction time. 
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